oo = == == ==[1[]

Douo000000oooonooooog
0oO@oooon)

goo:

000 : 2022/7/11 10:27:38

gooo

gooobooblioobobooboobooboboobooboobobobobooboob

O

gobooboooboobobobooboobooboobooboboooboobuoobobobooboo
gooobooobooboboboooboooboobooboobooboobooobo:

(0)0O0OOO:000000000000000
(0)DDOOO:111070120(000)070130(000)
000009000040
(0)0DDOOO:0000000000

(0)H)ooooO:

00070 120

0009:00-12:00 00000000
00013:00~16:00 0000000000000 O000
00070130

0009:00~12:00 00000000000 ODO
00013:00~16:00 D0 00O
(0)0OODD:00000000
(0)0O0O0:0000000 000000000 000 00

(OHoooooooooboooooOoboOoODOdh€tps://wwwl.inservice.edu.tw)O OO O (O

O00:34r74640)0 0 0000DO00OOOOOODOOOOOODOOOODOODOOOODOOG)

gooo

http://163.30.202.2

2024/5/18 17:54:59 - 1


https://www1.inservice.edu.tw
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

